V1

V2

1:50 1:50
RELACAO DO ACO
2 N21 28.0 C=1198 2 N22 8.0 C=974 SECAO A-A 2 N21 8.0 C=1198 2 N23 8.0 C=1002 SECAO A-A
tut Al tut Al Vi V2 V3
32 1168 64 944 32  ESC1:25 32 1168 64 972 32  ESC1:25 va V5 V6
1 N19 8.0 C=310 1 N19 8.0 C=310 1 N19 8.0 C=310 1 N19 8.0 C=310 1 N19 8.0 C=310 ACO | N | DIAM 3 ONT T CTOTAL
1 N18 8.0 C=180 155 155 | 1 N20 28.0 C=681 1 N18 8.0 C=180 155 155 155 1 N18 8.0 C=180 (cm) (cm)
'4444444444444444—4 . T 'F44444444444444444¢ s ‘ T
32 150 651 32 32 150 150 32 50 1 5.0 649 158 102542
2 5.0 48 corr 25296
A A 3 5.0 64 corr 32896
472 r 472 -
_l r-l r-l r-l |_ o _l r-l r-l r-l |_ o 4 5.0 16 corr 7984
—— N~ — N~ 5 5.0 8 corr 2200
2x4 N2 25.0 2x4 N3 5.0 2x4 N3 5.0 2x4 N4 5.0 2x4 N2 25.0 2x4 N3 85.0 2x4 N3 85.0 2x4 N2 5.0 6 5.0 8 corr 1504
| | | | | I | | | | | |
| | | | | | | | | | | | 7 5.0 16 corr 5200
L. L. | 8 5.0 16 corr 8848
9 5.0 8 corr 1624
L dpm La e L) e L ps L] es 15 |1 rs L r7 L prs L po La | I T 15 10 5.0 16 corr 9744
11 5.0 16 corr 9632
25, 489.1 125, 489.1 125, 489.1 125 461.1 125 25 489 125/ 489.2 125 489.1 125/ 489.1 25 2| 80 6| a7 2922
hd hd hd hd hd hd hd hd F] hd hd hd hd hd hd hd hd F] 13 8.0 4 424 1696
14 8.0 12 | 1096 13152
} bl bl bl } } bl b4 bl } 15| 80 4| 04 1616
26 N1 c/19 26 N1 c/19 26 N1 c/19 25 N1 c/19 26 N1 c/19 26 N1 c/19 26 N1 c/19 26 N1 c/19 16 8.0 2 459 918
65 65 17 8.0 4| 1068 4272
50 50 50 50
439 411 439 439 18 8.0 6 180 1080
50 1 N12 8.0 C=487 45 1 N13 8.0 C=424 45 1 N15 8.0 C=404 85 1 N16 28.0 C=459 50 1 N12 8.0 C=487 65 1 N15 8.0 C=404 45 1 N13 8.0 C=424 85 1 N12 8.0 C=487 %g 2-8 1% 36%(1 %ég
1048 — 1048 — 21 8.0 12 | 1198 14376
2 N14 28/0 C=1096 10 2 N14 28,0 C=1096 10 22 8.0 4 974 3896
50 103 N1 5.0 C=158 50 104 N1 5.0 C=158 23 8.0 4 1002 4008
1020 1048 24 8.0 3 844 2532
2N17 8.0 C=1068 V4 2 N14 2810 C=1096 25 8.0 2| 423 846
. 26 8.0 2| 1126 2252
V3 1:50 27 8.0 3 584 1752
28 8.0 1 971 971
1:50 2 N21 8.0 C=1198 2 N22 28.0 C=974 A _ 2 N21 28.0 C=1198 2 N23 28.0 C=1002 R _ 29 8.0 1 710 710
‘ 64 944 7SECAO AA 64 972 LEGAO AA 30 8.0 4| 1192 4768
32 1168 32 ESC 1:25 32 1168 32 ESC 1:25 31 8.0 4 214 856
| s 32 8.0 2 535 1070
1 N19 8.0 C=310 1 N19 28.0 C=310 1 N19 28.0 C=310 1 N19 28,0 C=310 1 N19 28.0 C=310 33 8.0 4 665 2660
1 N18 28.0 C=180 155 | 155 | 1 N20 8.0 C=681 1 N18 8.0 C=180 155 | 155 | 155 | 1 N18 28.0 C=180 gg 2-8 i g‘z‘g 2?132
32 150 v ' 651 32 ] 32 150 ) ) ) 150 32 il 36 8.0 2 188 376
A A 37 8.0 4 340 1360
472 I 472 r
] M M M ] o ] T T T ] o RESUMO DO ACO
| 2x4 N2 5.0 I | 2x4 N3 5.0 | 2x4 N3 5.0 | [ 2x4 N4 5.0 | | 2x4 N2 5.0 | | 2x4 N3 5.0 | 2x4 N3 5.0 [ 2x4 N2 5.0 | ACO T piam | CToTAL | PESOIO%
L L (m) (kg)
— — CA50 5.0 2077.9 320.0
| I P33 LA L p3a L p3s L] p36 L p37 15 | I p3s LJ p39 L rao L pa LA L ra 15 8.0 765.6 3025
25, 489.1 125 489.1 125, 489.1 125 461.1 125 25 489 125/ 489.2 125 489.1 125/ 489.1 125 PESO TOTAL
* * * * * * * * F ] * * * * * * * * F ]
CA50 622.5
} b b b4 } } b b4 b }
26 N1 ¢/19 26 N1 ¢/19 26 N1 ¢/19 25 N1 ¢/19 26 N1 ¢/19 26 N1 ¢/19 26 N1 ¢/19 26 N1 ¢/19 _ .
50 50 65 50 o 65 Vol. de concreto total =13.77 m
= 2
439 411 439 439 Area de forma total = 203.24 m
5 1 N12 28.0 C=487 45 1 N13 28.0 C=424 45 1 N15 8.0 C=404 85 1 N16 28.0 C=459 5 1 N12 8.0 C=487 65 1 N15 28.0 C=404 45 1 N13 28.0 C=424 85 1 N12 28.0 C=487
1048 L | 1048 L |
2 N14 80 C=1096 10 2 N14 98]0 C=1096 10
5o 103N105.0C=158 5o 104 N1050C=158
1020 1048
2 N17 28.0 C=1068 2 N14 @8]0 C=1096
150 2N21 ¢8.0 C=1198 2 N30 28.0 C=1192 2 N31 ¢8.0 C=214 SECAO A-A 1:50 2N2108.0 G=1198 2 N30 8.0 C=1192 2 N31 ¢8.0 C=214 SECAO AA
32 1168 64 64 184 32 EFor 108 32 1168 64 64 | 184 -
ESC 1:25 ESC 1:25
© N8 .0 G 1 N19 8.0 C=310  \2908.0 Curis 2 N37 98.0 C=340 e=20 1 N19 o8l0 C=310 2 N37 8.0 C=340 e=20
: 155 } : = 1 N36 8.0 C=188 190 | 155 | 170 | 1 N36 8.0 C=188
32 941 680 32 158 * ' ' 158 M
A 32 192¢ 182¢ 32
472 ] A| | _ _l — ——
472 r
| [T1 [T1 [T1 [T1 [T1 [T1 ] o m m — o
2x4 N5 5.0 2x4 N6 5.0 2x4 N7 5.0 2x4 N8 25.0 2x4 N8 5.0 2x4 N7 95.0 2x4 N9 5.0
[ X0 | X Ro o I xxTe | | 200 | | X0 | | xX7o | I oo | | 2x4 N10 25.0 | f 2x4 N11 25.0 | 2x4 N11 25.0 I f 2x4 N10 25.0 |
L 15 - =
P P31 P1
e Lrs L o7 L ros A L P10 L pris Ldr L_Jr: s LA e L T+ L T+ | 510 15
40 220.2 30 157.7 30 295.2 30 522.8 30 522.8 30 295.2 30 147.6 40
' ISt = S = S ISt ' — 40 | 549.1 140 561.6 140 561.7 140 | 549.1 | 40
* * * * * ¢ hd hd F ]
| | | | ] iy | | Ul Ul Ul 1
N 12 N1 ¢/19 9 N1 c/19 16 N1 c/19 28 N1 ¢/19 28 N1 c/19 16 N1 c/19 8 N1 c/19 o ’ 9 NL oo e | 20 NL oo e | 20 NL oo s | » 9 NL oo .
796 536 >0 50 487 487 >0 %
N24 8.0 C=844 1 N25 8.0 C=42 1 N25 8.0 C=42
3N24 08.0 C=8 45 508.0 C=423 85 508.0 C=423 3 N27 28.0 C=584 5 1 N32 8.0 C=535 80 1 N34 8.0 C=442 80 1 N34 8.0 C=442 120 1 N32 8.0 C=535
10 617 n
2 N26 28.0 C=1126 117 N1 25.0 C=158 2 N33 8.0 C=665 10
VFl VF2 @ 2 N35 28.0 C=622 RELAGAO DO ACO 118 N1 5.0 C=158
1:50 1:50 VF1 VF2 VF3
VF4 VF5 VF6 =0
2N9 28.0 C=1200 2 N10 28.0 C=606 2 N9 ¢8.0 C=1200 = ZN11 98.0 C=286 617
2 N35 08.0 C=622 00 ACO [ N | DIARING3 ¢80 C=685IT | C.TOTAL
57 581 |27 58 | m | (em)
. 11
1 N7 8.0 C=240 1 N8 8.0 C=230 1 N7 8.0 C=240 1 N7 8.0 C=240 50 21 2.8 6?2 222 62802
2 N6 28.0 C=135 120 115 2 N6 28.0 C=135 120 120 2 N6 8.0 C=135 3 5.0 4 289 1156
o 110 1>—l 1—l o 110 1>—l 0—l 110 - 4 8.0 12 1079 12948
5 A XA AL 5 8.0 4| 1051 4204
SEGAOC A-A SEGAOC A-A 6| 80| 12| 135 1620
ESC 1:25 ESC 1:25 7 8.0 7 240 1680
8 8.0 3 230 690
2 N2 5.0 C=234 2 N2 5.0 C=234 2 N2 ¢5.0 C=234 9 8.0 10 | 1200 12000
10 8.0 4 606 2424
11 8.0 4 286 1144
702 rA 702 rA 12 8.0 2 827 1654
o o 13 8.0 2| 1126 2252
< < 14 8.0 2 567 1134
15 8.0 2| 1198 2396
16 8.0 2| 1181 2362
L Ir La Llr Ldes L e L)es 15 I rs |l L) es L ro La L ri0 15 17 8.0 2 202 404
18 8.0 2 419 838
25, 489.1 125/ 489.1 125/ 489.1 125, 461.1 125 25 489 125/ 489.2 125/ 489.1 125/ 489.1 125 19| 80 2| eas 2592
* * * * * * hd * * * * * * * * * 20 8.0 4 622 2488
21 8.0 4 143 572
} bl bl b4 } 35 } b4 b4 b4 } 35 22| 80 4| 280 1120
28 N1 c¢/18 28 N1 c¢/18 28 N1 c¢/18 26 N1 c/18 28 N1 c¢/18 28 N1 c/18 28 N1 c/18 28 N1 c/18 23 8.0 2 503 1006
33 1048 10 33 1048 10 RESUMO DO ACO
2 N4 8.0 C=1079 110 N1 5.0 C=98 2 N4 8.0 C=1079 112 N1 25.0 C=98
ACO o,
1020 33 1das 33 C DIAM C.T(%')I’AL PE?I?gw)LO/o
2 N5 28.0 C=1051 2 N4 28.0 C=1079 CA50 5.0 724.2 111.5
8.0 555.4 219.5
VF3 VF4 PESO TOTAL
1:50 1:50 CA50 331.0
2 N9 8.0 C=1200 2 N10 28.0 C=606 2 N9 8.0 C=1200 2 N11 8.0 C=286
Vol. de concreto total =7.87 m?
57 o581 |27 58 200 L Area de forma total = 124.57 m?
1 N7 8.0 C=240 1 N8 8.0 C=230 1 N7 8.0 C=240 1 N7 8.0 C=240
2 N6 8.0 C=135 120 115 2 N6 8.0 C=135 120 120 2 N6 8.0 C=135
L L L L
27 110 SECAO A-A 27 110 110 27 SECAO AA
ESC 1:25 ESC 1:25
2 N2 5.0 C=234 2 N2 ¢5.0 C=234 2 N2 5.0 C=234
702 rA [ 702 rA [
— o — o
< <
| I P33 LA L) p3a L] p3s L] p36 L] p37 15 | I p3s LJ p39 L rao L pa1 LA L pa 15
25, 489.1 125/ 489.1 125/ 489.1 125, 461.1 125 25 489 125/ 489.2 125/ 489.1 125/ 489.1 125
* ¢ ¢ T * * ¢ T ¢ *
} b b bId } 35 } bl b b } 35
28 N1 c/18 28 N1 c/18 28 N1 c/18 26 N1 c/18 28 N1 c/18 28 N1 c/18 28 N1 c/18 28 N1 c/18
33 1048 10 33 1048 10
2 N4 ¢8.0 C=1079 110 N1 25.0 C=98 2 N4 ¢8.0 C=1079 112 N1 25.0 C=98
1020 33 1048 33
2 N5 8.0 €=1051
1:50
2 N15 8.0 C=1198 2 N16 8.0 C=1181 2 N17 8.0 C=202
1173 57 177 x
27| 20 |27 ] |27SE(;AO A-A
1 N7 8.0 C=240 ESC 1:25
120
L
702 A
o
<
| P33 L ps1 L o7 LJros L P10 LA LJris e l p1 |15
40 | 220.2 30, 1577 [30] 295.2 130 522.8 130 522.8 130 295.2 |30, 1476 |40
} } } b4 b b4 } 35
13 N1 c/18 9 N1 c/18 17 N1 ¢/18 30 N1 ¢/18 30 N1 c/18 17 N1 ¢/18 9 N1c/18
33 796 536 33 10
2 N12 28.0 C=827 125 N1 25.0 C=98
o 2 N14 28.0 C=567
2 N4 8.0 C=1079
2 N13 98]0 C=1126
VF6 2 N9 28.0 C=1200 2 N23 ¢8.0 C+503
1:50 60 220 |
l } .
2 N22 38.0 C=280 e=20 2 N22 38.0 C=280 e=20
i ° 1 N8 28.0 C=230 ° °
2 N21 28.0 C=143 160 | 115 140 | 2 N21 8.0 C=143
27 118 * 1 * 118 27 .
SECAO A-A
ESC 1:25 IFF — UEP URUGUAIANA / GINASIO
2 N3 5.0 C=289 2 N3 5.0 C=289
102¢c 192c
702 rA PROJETO ESTRUTURAL
Planta Detalham. Arm. Nivel Metal. e Fecham.
__Ipa LA L] r2s P L] P - T
3
40 | 549.1 140 | 561.6 140 | 561.7 140 | 549.1 | 40 =
* * * * * * * A
3 || Proprietario:
} b b b ' 35 x UEP—U '
31 N1c/18 32 N1c/18 32 N1c/18 31 N1c/18 0 ruguailanda
0 < R. Monteiro Lobato, 4442— Uruguaiana/RS
0C= oc= 126 N1 5.0 C=
35 1 N18 8.0 C=419 N30 80 C=622 155 1 N18 8.0 C=419 6 N1 25.0 C=98
33 617 617 33 Area Data
2 N19 28.0 C=648 2 N20 8.0 C=622 o
.0C= Eng® Civil Valter O. S. Olea
2N19 28.0 C=648 g 1.114,41m2 Ago /2018
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